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On how to find time from distance and speed * KA X&) EER-hE E£XH-FE BE-FIE &5

% Nagata Hikaru=Midorikawa Kanaru=Nakazima Ketaro*Chiba Haruna-Totsuka Kanon

R (7The Original) NS  (The mathematical content)
F—I—F BE 10ri equals 1.
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10HE=1HRLT5 . A = 3 multiplied by 30 is 90.
A:30X3=9 - - 9fRHEED 130 minus 90 is 40.

130-90=40 - - - 4HHEECHTYNDS  30divided by 6is 5.

Keyword  speed

30-6=5 ... D B = 18 divided by 6 is 3.
B:18+-6=3 ...... @) Accordingly, they go a proportion of 5
Yo5T., A:B=5:3 OHEALHTH. to 3.

L7 RoT. FFEZHEMAEXET 3 L. Therefore, X means time to go back
and forth.

4 0—5X=3X
Nz TX=5
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40 minus 5X equals 3X
Solve this, X is 5.
Answer, they will go and go after 5

distanced to move plus 3ri that B distanced to move is 8ri. Finally,
8ri divided by remaining 40ri is 5ri. Accordingly, A and B come and
go after 5 hours.
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Fﬁ’): —Gﬂé::ma_l_éf O)—I—ééé'hé : : .
Il P B & = A L A R 1= courier who comes from Kyoto Is A. An express messenger courier
1% £l 7{ 5 3 1: Al —{C— ) i % [ = | X 1% H?él—] 7;39\ who comes from the countryside Is B. A goes to the countryside
—B 2 STH— 6 JB L X ~FY—= = 30ri In a day, but A will start earlier than B for 3days. B goes to
g— & 2 = Z 3’2'! e 7:5%\ ?7- /‘—C‘j — Z =H & %} Kyoto 18ri in a day. At this time, how many hours do two people
ﬁ?gﬁgﬁgﬁééj—i* é%%'z‘ 2 : come and go after?
D2 Bualh < XY =T T
Oé':;;(”f L_J \}Ié—l—— 1E.I- O'u_l_ H < :
" ETAHLERE = B XB & Solution method

= 7;;)& 1 60 S B %l g é‘)J :E H |Z 24 » E 3days multiplication by 30ri is 90r1 because A starts to walk than B

2THLRICIEE + i £7 It 17 | 2 b early on 3rd. Entire distance is 130ri. 130ri minus 90ri is 40ri.Edo

T LY é o — 1 &> [Z N 1=

>‘ Z EE - % T /u A R i & _5'; Z = period, It divided from sunrise to sunset times six equally, and they

= M % H A _£ 73 ‘ji ;i ko 3 = Z o s %) used it. A move 5ri Iin a day. It divide 30ri by 6ri1. In the same

AT = ;IJ ‘_?_: % A B + f— II~ 7;)\ o 77:: Hz’;ﬁ %2) manner, B move 3ri in a day. It divide 18ri by 6ri. 5ri that A

t 1 BH X hrel 0) ~ 0 5 % —_

oS S\ /N =] g = R

AREEZLN SRS ¥z R

FEXE A b2 RT — A b

ECCgm /N> HpE A (% T

AN ACH

%

T
=
]

The person in charge : Totsuka Chiba
IPXAE  (Edo culture)
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It is an express messenger to have played a role as the present mail and telephone in the Edo era. | sent it to the destination while the Shogunate
employing an express messenger in each post town, and relaying public letter and baggage. It usually took approximately two weeks approximately 492km
from Edo to Kyoto when | walked, but the express messenger ran in only 3-4 days. In the post town, there were the relay of the man and horse, the staying
of the traveler, the three major duties called communication duties, but communication duties are to transport a letter box for official use which | put a
public document of the Shogunate in. Therefore it was a relay express messenger of the Shogunate official business to have been put at each hotel, and
the Shogunate gave a relay express messenger stipend in rice as the price at a hotel. In addition, there were the daimyo express messenger of daimyos and
a private town express messenger. Even if the express messenger system from the Edo era became the Meiji, | followed and continued transporting a letter,
the parcel, but, in 1872, the express messenger supplier united, and postal services established an origin of land transport company in 1871 because it was
only with transportation of the freight because it was in government control. The person in change : Nakazima
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CcOBEIL. ZANDOFKRREMNAEESHEBZKOA-=-HIZ1RARRREZE- This problem use linear equation to find the date and time to A
TL\A, and B come and go.
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